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A .24 - B BAGEA) - NPAY - BES 0] &k o4 p/E-T Hl D2

SRR TS 191,280 169,500 21,780

= 5,780 4,000 1,780

2 11,000 11,000 0

Al 174,500 154,500 20,000

DlMERR 29 124,000 104,000 20,000

206 H £ bl 100,000 80,000 20,000

01 ME I 100,000 80,000 20,000

ONIMSHIY HE  ZF 100,000,008 * 14 100,000 80,000 20,000

WASSH MNFNSK EL2 A 1,780 0 1,780

= 1,780 0 1,780

206 M 2 b 1,780 0 1,780

= 1,780 0 1,780

01 ME bl 1,780 0 1,780

OMASEH NFYXZH S A

1,780,0009 * 14! 1,780 0 1,780

= 1,780 0 1,780

BPSUIPEY L AYRSOF M 1,350,799 1,454,535 103,736
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2F 21,000,0008 * 14l 21,000 6,000 15,000
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= 36,424 54,532 £18,108
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= 36,424 54,532 ~18,108

Al 84,990 127,242 £42,252
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= 5,263 2,112 3,151
Al 12,281 4,928 7,353
QI S X 7,063 11,501 £ 4,438
2 2,825 4,600 A1,775
= 1,271 2,071 A 800
Al 2,967 4,830 A 1,863
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2 2,825 4,600 A1,775
S 1,271 2,071 A 800
Al 2,967 4,830 ~1,863
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2 2,825 4,600 A1,775
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307 2120l & 2,000 0 2,000
02 DIAMANREE 2,000 0 2,000
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WS SIET =) 7,853 0 7,853
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SY . SERS FEH 2X3 e 7,853 0 7,853
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020178 ESNZH KBAY 2 Dsz o
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02 Al - SHIEEZure3 6.893 0 6.893
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